



TOWN OF NEWTON

RESOLUTION #34-2017

February 27, 2017 **"Approval of Contracts for Chemical Supplies per Bid #4-2017"**

WHEREAS, there is a need for Chemical Supplies for use at the Town of Newton Wastewater Treatment Plant; and

WHEREAS, the Town of Newton received bids for Chemical Supplies under Bid #4-2017 duly advertised and received in a public manner on February 8, 2017 at 11:15am; and

WHEREAS, Holland Company 153 Howland Ave, Adams, Massachusetts and Coyne Chemical 3015 State Rd., Croydon, Pennsylvania, have provided for the lowest bids deemed responsive and responsible to the specifications and legal requirements as provided for within the bid document; and

WHEREAS, Newton's Qualified Purchasing Agent has concurred with the legality of the purchase in accord with the New Jersey Local Publics Contract Law (N.J.S..40A:11-1 et. Seq.;

NOW, THEREFORE BE IT RESOLVED, by the Town Council of the Town of Newton, in the County of Sussex as follows:

1. **Coyne Chemical** is awarded the following services and two (2) year contract reflective of the accepted prices in Bid #4-2017 for supply of items:

Item 1	Liquid sodium carbonate, as called for in the Specifications 90,000 gallons at 15%	<p>\$0.688 per gallon</p> <p>\$61,920.00 estimated cost</p> <p>5 business days' lead time</p>
Item 3	Liquid gas sulfur dioxide, as called for in the Specifications 10,950 pounds	<p>\$1.4415 per pound</p> <p>\$15,784.43 estimated cost</p> <p>3-5 days' min 3 cylinders on order</p>
Item 4	Liquid Chlorine/Gas, as called for in Specifications 10,950 pounds	<p>\$1.85 per pound</p> <p>\$20,253.12 estimated cost</p> <p>3 cylinders' minimum order</p>
Item 6	Liquid Sodium Hydroxide, as called for in Specifications 5,500 gallons 25%	<p>\$1.964 per gallon</p> <p>\$10,802.00 estimated cost</p> <p>3-5 days' lead order time</p> <p>300-gallon minimum order</p>
Item 7	Liquid Hydrofluoric Acid, as called for in Specifications 1,250 gallons	<p>\$4.401 per gallon</p> <p>\$5,501.25 estimated cost</p> <p>3-5 days' lead order time</p> <p>20 carboys minimum order</p>
Item 8	Liquid Sodium Hypochlorite, as called for in Specifications 7,500 gallons	<p>\$1.991 per gallon</p> <p>\$14,932.50 estimated cost</p> <p>300-gallon minimum order</p>

2. Holland Company is awarded the following services and two (2) year contract reflective of the accepted prices in Bid #4-2017 for supply of items:

Item 2	Liquid aluminum sulfate, as called for in the Specifications at 30,000 gallons 5,000 gallons 3,000 gallons	<u>30,000 gallons</u> - \$1.08/ gal \$324,000.00 estimated cost 5000 gallons minimum order <u>3,000 - 5,000 gallons</u> \$1.08/ gal \$5,400.00 estimated cost <u>0-3,000 gallons</u> - \$1.13/ gal \$3,390.00 estimated cost 1-2 days lead order time
Item 5	Liquid CES PACI 2500 or Del Pac 2950, as called for in Specifications 24,000 gallons	\$3.23/ gallon \$77,520.00 estimated cost 1-2 days' lead order time Or equivalent as approved by the Wastewater Treatment operator at \$2.59/ gallon \$62,160.00 estimated cost

CERTIFICATION

THIS IS TO CERTIFY that the above is a true copy of a Resolution adopted by the Town Council of the Town of Newton at a meeting of said Governing Body conducted on Monday, February 27, 2017



Lorraine A. Read, RMC
Municipal Clerk



TOWN OF NEWTON
RESOLUTION # 34 -2017
CERTIFICATION OF THE AVAILABILITY OF FUNDS
(AS REQUIRED BY NJSA 40A:4-57, NJAC 5:34-5.1 et seq)

I hereby certify that funds available for the Acquisition of Chemicals from the Water Sewer Utility Budgets as follows:

<u>Chemical</u>	<u>Bidder Receiving Award</u>	<u>Account Number</u>	<u>Total Amount</u>	<u>2017 Budget 9/12</u>	<u>2018 Budget 3/12</u>
Liquid Sodium Carbonate	Coyne Chemical Co.	6077208	\$ 61,920.00	\$ 46,440.00	\$ 15,480.00
Liquid Aluminum Sulfate	Holland Company	6077208	\$ 5,400.00	\$ 4,050.00	\$ 1,350.00
Liquid/Gas Sulfur Dioxide	Coyne Chemical Co.	6077208	\$ 15,784.00	\$ 11,838.00	\$ 3,946.00
Liquid Chlorine/Gas	Coyne Chemical Co.	6077208	\$ 20,252.00	\$ 15,189.00	\$ 5,063.00
CES PACL 2500	Holland Company	6077208	\$ 62,160.00	\$ 46,620.00	\$ 15,540.00
TOTAL SEWER PLANT -OE- CHLORINATION/CHEMICAL			\$ 165,516.00	\$ 124,137.00	\$ 41,379.00
Liquid Sodium Hydroxide	Coyne Chemical Co.	6064208	\$ 10,800.00	\$ 8,100.00	\$ 2,700.00
Liquid Hydrofluosilic Acid	Coyne Chemical Co.	6064208	\$ 5,500.00	\$ 4,125.00	\$ 1,375.00
Sodium Hypochlorite	Coyne Chemical Co.	6064208	\$ 14,932.00	\$ 11,199.00	\$ 3,733.00
TOTAL WATER TREATMENT -OE- CHLORINATION/CHEMICAL			\$ 31,232.00	\$ 23,424.00	\$ 7,808.00

The funds being certified are contingent upon the governing body appropriating sufficient funds in the 2018 Budget.

Funds being certified are contingent upon the governing body introducing and approving the 2017 budget as presently prepared with total Water Sewer Utility operating other expenses of \$1,992,910.00.

2-27-17 
 dated Dawn L. Babcock, Chief Financial Officer

BID RESULTS

ORGANIZATION:

Town of Newton

BID #	4-2017 Chem supplies bid
BID DATE/ TIME	2/8/17 11:15am
NUMBER OF BIDDERS	2

NAME OF BIDDER	Holland Company	Coyne Chemical
ADDRESS	153 Howland Ave	3015 State Rd
CITY, STATE, ZIP	Adams, Mass	Croydon PA
CONTACT		
TELEPHONE		
FAX		
EMAIL		
INSURANCE REQUIRED FROM VENDOR - DATE RECEIVED		

ADDENDA PAGE	x	x
IRAN CERT	x	x
PUBLIC WORKS CONTRACTOR REGISTRATION		
PUBLIC WORKS CONTRACTOR REGISTRATION DATE		
BID GUARANTEE	x	x
STOCKHOLDER DISCLOSURE	x	x
CONSENT OF SURETY		
PERFORMANCE BOND/ DATE RETURNED		
EXHIBIT A/B	x	x
AA201 IF REQUIRED - DATE OF SUBMITTAL		
AA202 IF REQUIRED - DATE RECEIVED		
AA302 IF REQUIRED	x	x
NEW JERSEY BRC	x	x
SUB CONTRACTORS NAMED?		
EXPERIENCE AND QUALIFICATIONS		
EQUIPMENT CERT IF APPLICABLE		

Item 1 90,000@ 15%		
Per Gallon		\$0.688
Total		\$61,920.00
		5 business days lead
Item 2		
30,000 gallons		
Per Gallon	\$1.08	
Total	\$324,000.00	
	5000 gallons minimum	
5,000 gallons		
Per Gallon	\$1.08	
Total	\$5,400.00	
3,000 gallons		
Per Gallon	\$1.13	
Total	\$3,390.00	
	1-2 days lead order	
Item 3 10,950 pounds		
Per Pound		\$1.4415
Total		\$15,784.43
		3-5 days min 3 cylinders on order
Item 4 10,950 pounds		
Per Pound		\$1.85
Total		\$20,253.12
		3 cylinders minimum
Item 5 24,000 gallons		
Per Gallon	\$3.23	\$4.97
Total	\$77,520.00	\$98,328.00
	1-2 days lead	5-7 days minimum
Item 6 5,500 gallons 25%		
Per Gallon		\$1.964
Total		\$10,802.00
		3-5 days 300 gallon minimum
Item 7 1,250 gallons		
Per Gallon		\$4.401
Total		\$5,501.25
		3-5 days 20 carboys minimum
Item 8 7,500 gallons		
Per Gallon		\$1.991
Total		\$14,932.50
		300 gallon minimum
Exceptions		
Item #5		
Per Gallon	\$2.59	
Total	\$62,160.00	

THE CANNING GROUP LLC



45 S. Park Pl 183
Morristown, N.J. 07960
973-706-7813

February 10, 2017

Thomas J. Russo Jr. Town Manager
Town of Newton
39 Trinity St.
Newton, N.J. 07860

Re: 4-2017 Purchase of Chemicals Bid

Dear Mr. Russo,

The bids for Chemicals Supply for the Wastewater Treatment Plant were opened at 11:15 am on February 8, 2017. The attached bid results sheet indicates the rates of the respondents for rates as indicated by the item, amount and material as indicated attached to this memo.

The Town received two (2) vendor responses and recommend the award to both companies as follows:

- 1. Coyne Chemical** is awarded the following services and two (2) year contract reflective of the accepted prices in Bid #4-2017 for supply of items:

Item 1	Liquid sodium carbonate, as called for in the Specifications 90,000 gallons at 15%	\$0.688 per gallon \$61,920.00 estimated cost 5 business days' lead time
Item 3	Liquid gas sulfur dioxide, as called for in the Specifications 10,950 pounds	\$1.4415 per pound \$15,784.43 estimated cost 3-5 days' min 3 cylinders on order

THE CANNING GROUP LLC



**45 S. Park Pl 183
Morristown, N.J. 07960
973-706-7813**

Item 4	Liquid Chlorine/Gas, as called for in Specifications 10,950 pounds	\$1.85 per pound \$20,253.12 estimated cost 3 cylinders' minimum order
Item 6	Liquid Sodium Hydroxide, as called for in Specifications 5,500 gallons 25%	\$1.964 per gallon \$10,802.00 estimated cost 3-5 days' lead order time 300-gallon minimum order
Item 7	Liquid Hydrofluoric Acid, as called for in Specifications 1,250 gallons	\$4.401 per gallon \$5,501.25 estimated cost 3-5 days' lead order time 20 carboys minimum order
Item 8	Liquid Sodium Hypochlorite, as called for in Specifications 7,500 gallons	\$1.991 per gallon \$14,932.50 estimated cost 300-gallon minimum order

THE CANNING GROUP LLC



45 S. Park Pl 183
Morristown, N.J. 07960
973-706-7813

2. **Holland Company** is awarded the following services and two (2) year contract reflective of the accepted prices in Bid #4-2017 for supply of items:

Item 2	<p>Liquid aluminum sulfate, as called for in the Specifications at</p> <p>30,000 gallons</p> <p>5,000 gallons</p> <p>3,000 gallons</p>	<p><u>30,000 gallons</u> - \$1.08/ gal</p> <p>\$324,000.00 estimated cost 5000 gallons' minimum order</p> <p><u>3,000 - 5,000 gallons</u> \$1.08/ gal</p> <p>\$5,400.00 estimated cost</p> <p><u>0-3,000 gallons</u> - \$1.13/ gal</p> <p>\$3,390.00 estimated cost</p> <p>1-2 days' lead order time</p>
Item 5	<p>Liquid CES PACI 2500 or Del Pac 2950, as called for in Specifications 24,000 gallons</p>	<p>\$3.23/ gallon</p> <p>\$77,520.00 estimated cost</p> <p>1-2 days' lead order time</p> <p>Or equivalent as approved by the Wastewater Treatment operator at</p> <p>\$2.59/ gallon</p> <p>\$62,160.00 estimated cost</p>

THE CANNING GROUP LLC



**45 S. Park Pl 183
Morristown, N.J. 07960
973-706-7813**

It is hereby recommended in accord with the resolution of approval the companies be awarded in accord with the aforementioned table indicating acceptable prices. Thank you.

Respectfully

Sean P. Canning, MPA, QPA
Purchasing agent